
TEMA FP 504



SUPPORT KIT

416

4

4

4

-

1

4

4

4

1

17

18

19

20

Codice Code Código код- - -

42

44

87

88

FIXING KIT

41

1

45

0

1

4

8

8

1

-

4

3
8

8

8

8

Codice Code Código код- - -

12 12

4
1212
4

4 4

4 4

1 112

9

10

11

M8x40

M8

M6

M6

M6x35

M7x40

M6x45

M8x50

M8

M6

M8

- 1 -

A

B

20mm

Optional
Accessories

Kit

14

ONLY FOR
“ALU KIT” PROFILES

21

ONLY FOR
“ALU KIT” PROFILES

700008700000

700008800000

700008900000

-

-

700009300000

700009500000

700009400000

700009800000

700009600000

Q.N. Q.Q.N. Q.

BAR KIT

213

4

4

-

4

4

14

15

Codice Code Código код- - -

-

700009100000

700009000000

Q.N. Q.

ALUMINIUM BAR KIT

213

4

4

-

4

4

14

15

Codice Code Código код- - -

2221

-

700009100000

700009200000

700007900000

Q.N. Q.

422

223

OPTIONAL Art. 000032900000

Q.N.



B2 B1

N.

15 4

3

4

Quantity

13 2
N. Quantity

16 4

13

16

15a

- 2 -

D2

D2

D1

D1B2

B2

B1

B1
FRO

NT

REA
R

12
3

B1/B2

D1

D1

D2

D2

15

15

15b15a

*pg.3

15a

1



2

N.

19 4
Quantity

19

5 Nm

14

15b

15b

15a15b

20

5

6

7

- 3 -

20mm

Optional
Accessories

Kit

14

ONLY FOR
“ALU KIT” PROFILES

21

ONLY FOR
“ALU KIT” PROFILES

N.

14 4
21 2

Quantity



N.

2

Q.
4

8 8
3 8

A

B

7 8

10 M6x45

M6x35

3

3
10

8

3

8

8

- 4 -

2

3

3

7

7

2

8

8

9

20

10

10
10



N. Q.

- 5 -

11

5

4

11

9

4
4

10

11

9

1



17

18

22
23

- 6 -

OIPTIONAL

Art. 000032900000

12

13

OK

NO

N.

17 4
18 4

Quantity

5 Nm

12

20

12



L R

L = R
  OK

  OK

NO

NO

NO

OK

15 Kg

75Kg

Co
d.

 A
rt

.
Co

d.
 is

tr
.

D
at

a
Cr

ea
to

 d
a

A
pp

ro
va

ta
 d

a

00
00

54
60

00
00

50
00

07
90

00
00

28
/0

8/
12

EL
AS


